
#include <iostream> 

#include <stdlib.h> 

#include <stdio.h> 

#include <math.h> 

using namespace std; 

 

int main() 

{ 

 while (1) 

 { 

  char x; 

  scanf_s("%c", &x); 

 

  switch (x) 

  { 

  case 'a': case 'A': cout << "Tropska kisna suma"; 

   break; 

  case 'b': case 'B': cout << "Suha klima"; 

   break; 

  case 'c': case 'C': cout << "umjereno topla kisna klima"; 

   break; 

  case 'd': case 'D': cout << "snjezno sumska klima"; 

   break; 

  case 'e': case 'E': cout << "snjezna klima"; 

   break; 

  } 



 } 

} 


